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¥ Fafafaa & 3 fea sfiffrma 3
YR T R $T6! = |
yTaYT forg e 82
1. 1909 3fferfad
2. 1919 Sfaf gy

@35 aﬁr@’/

4. HRd Wre=ar sifef<aw 1947

1. From which of the following Acts, a

large number of provisions have been

adopted by the Indian Constitution?
1.1909 Act

2.1919 Act

3. 1935 Act

4. India Independence Act 1947

Ans : 3
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& FrafafEa § @ o9 a1 aeud 2. Which of the following is not an

HIH BT SIS0 8! 22 example of(mass media?)
1. AR YA 1. Newspapers
2. ¥4 2. Radio
@Fﬂ?ﬁ' @ 3. Cellular phones
4. SAfae= 4. Television

Ans : 3
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&/ BT Sret aTeiT Seret o

szﬁuvm'&werﬁasﬁm%l

(1. g 3 B R =

2. Bic fFar 3k Qdter uwig
3. YfAE Wetgw dath Aorgr ok
YTHIOT AghTRT

4. ITHIOT EHTRGT 3R ATEPR

3. Debt trap in rural areas mainly

Illustrates the exploitative

—

relationship between

1. Moneylenders and small farmers
2. Small farmers and agricultural
labourers

3. Agricultural landless labourers
and village cooperatives

4. Village cooperatives anc’

AnNs :

moneylenders

1
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/ﬁ";‘lﬁl’@ﬂ$ﬂ=ﬁ (A) TUT (R) Bl UG TUT SUY fadeq I

erf‘wzﬁ(A) diedd H, Wad YR ATEH (HIf$an) dewayul 3|
ﬁ_@) HaR A1eaw (Wi Eam 3 ured g faya=ig gt
arfee = fb gergraguef |
) IR (R) IR T E AR(R). (A) B ¥ T 2D

2. (A) 3R (R) Il TG § AP (R), (A) B Tl ARSI 781 7|
3. (A) 981 g af (R) T B

4. 3 (A) 3R (R) Tod &

Ans : 1
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%Wﬁwn_wmweﬁ%l %n India, the government works at

(A) A8 ®R < z,//\

(B) A WR o~ ~ - (A) Ward level

(©) ?T@'q R YA (B) State level

(D) &g TR < I (C) National level
ﬁqﬁr@aﬁﬁﬁq-wﬁww%? (D) Regional level

1. (A) 3R (B) Which of the following option is correct?

2. (B) R (> 1 (A) & (B)
3. (C) 31X (D) 2.(B) & (C)
4. (A) 3T (C) 3. (C) & (D) Ans - 2

4.(A) & (C)
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/ﬁ? IR B R BTH HIdT &2 6. Who acts as a panchayat
1. T AT &1 Gfra %@h oresident?
2. WS foprg iftrert g 1. The Secretary of the Gram Sabha

Y Al 2. Block Development Officer
M 3. One ward member elected by other

4. SRI-9RT ¥ 918 9w /yé" | ward members
‘5775 =1 4. Ward members by rotation
245)/\/\
NLU N N

NA | g e
(557 |l Ans : 3
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7 aR e el e B2

1. O} ST ST8T AT &1 U T yaiferd
5

2. Ui} TG TgT AwigRl @1 fasht gidt

4. T} STTE STGT HorgRI DI ¥ TERT
fgar s 3

%Nhat Is a labour chowk?

1. A place where bonded labour

system Is praticed

2. A place where labourers are sold

3. A place where daily wage labourers
/

assemble in search of work

—

4. A place where labourers are given

night shelters

Ans : 3
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o Praffea w2 ufe ok

faper giT |

(A) TADIY BT TGP TRAT AR &
SR AR 9 &1 &1 vF G1YF B
(B) 3R TUTRGT BT ! TgMH BT
SIfar gl

E1.W(A)'ﬂ€r%l =

2. $9d (B) gl o

3. (A) 31X (B) SIFI Wl €1

4. (A) 3MR (B) I TTerd B

ﬁead the following statements and

choose the correct option.

(A) Weaver's cooperatives are one way to

reduce the dependence on the merchant

(B) And to earn a higher income for the

merchant

———

1. Only (A) is true.
2. Only (B) is true.
3. Both (A) and (B) are true.
4. Both (A) and (B) are false

Ans : 1
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I94 P

AHBY (A) : fEelt W 1 Bt gt TRE & wPdife Tl Het o
Hepdl|

BRUI (R) : TR 3R TYS Tdd wlehei I Y 34 39 1

T Hd g |
Hp) IR (R T & A Q),\(A)ﬁﬂé’r@

2. (A) 3R (R) ST T & AfF (R), (A) B} T8 URSIT &1 2
3. (A) 9 & QAfd (R) 3 B

4. (A) 99T (R) I 3T B

Ans : 1
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y{./ﬁ?)'\' (aﬁﬁ?) STHHATAAT BT 10. Gender inequality needs to be
THTYT & TR W B DI oewd | dealt with at .
i /\ 1. Family level only
=Faauiar= X ’% 2. Family, society and government
2. URAR, HHIS SR PR levels

MA 3. Government level only
4. URER 3R THTS 4. Family and society levels

Ans : 2
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11. Which one of the following is
NOT a Fundamental Right?

1. Right to freedom of religion
2. Right to constitutional remedies
3. Right to property

4, Availing elementary education

N

Ans : 3
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y@?ﬁ ﬁfﬁm YIS &l Tﬁ@ 12. The provision of Midday Meal
CAR'ICYIG] ﬁ'ﬁﬁ'@ﬁ o YR Scheme in schools is extension of

W B Ut foo Aifers which of the fundamental rights
PR FI fadr 82 - _granted toﬁndian citizens?“] B
1. HTAT BT MfUPR 1. Right to equality

3. TNYUT & fJog SR 3. Right against exploitation

4. YT Tgd=ar &1 PR 4. Right to freedom of religion

Ans : 2
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¥&. 5 & 3 AT ST 1 e,
g YeTd] URd &1 <1 qawIT I
8 frraferaa # A g guw a1
SuIidT 8?2

1. TIHRATe! A ATABIATRITE!

ATl gRT gAdTg W&o B
g i)

3. Ui Bl ARl HTRIT Sl g TR\

A FIPR ToR 3
4. AR B FHEE S ST

13. The phrase 'Justice delayed is

justice denied’ refers to which of the

following problems of the justice

system in India?

1. Red tapism in bureaucracy

2. Inordinate delay in completion of
trial by judiciary

3. Long system of appeals going

Ans : 2

4. Grant of bail to the acCuocu

through various levels
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M/.fzoos H AR g3M a1 PR

sRiPrE g R BT RS _ F

IRSRY B YRRT S 2|

(8 TR -
(B) SFIRfeIa SiTetTfer.

(C) TuRfia "ifere X
(D)Wamwm%
= fou U gl & A W Ree o1
Waﬂﬁmz
1. (A) 3% (D)
3. (A) 3ii¥ (B)

2. $ad (A)
4. $qdd (D)

14. The Forest Rights Act (2006) is a law

which recognizes the rights of

(A) Forest Dwellers

(B) Scheduled Tribes

(C) Paper Mill Owners
(D) Animal rights activists

Choose the correct option from the codes

given below.
1. (A) and (D) 2. 0Only (A)
3. (A) and (B) 4. Only (DAnS ) 3
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ysffafea | 9 fea Rufa o1
3T B & 1Y BIRATHU U

 Heiftra g 82
(A) 3Td / F (B) NeuTd

© T T

ol fawe &1 994 Sifore:
@
2. (M), (B) 3R (C)
3. (A) 3ii¥ (C)
4. (A) 3R (D)

15. Marginalisation is often associated to

experiencing which of the following

conditions?

(A) Disadvantage (B) Discrimination
(C) Equality (D) Pride

Choose the correct option:

1. (A) & (B)

2.(A), (B) & (C)

3.(A) & (C)

4.(A) & (D) Ans :1



